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(a) Bullet strikes boards (b) Boards stop bullet

Figure 7.13 The boards exert a force to stop the bullet. As a result, the boards do work and the
bullet loses kinetic energy.

Strategy

We can assume that under the general conditions stated, the bullet loses all its kinetic energy penetrating the
boards, so the work-energy theorem says its initial kinetic energy is equal to the average stopping force times
the distance penetrated. The change in the bullet’s kinetic energy and the net work done stopping it are both
negative, so when you write out the work-energy theorem, with the net work equal to the average force times the
stopping distance, that’s what you get. The total thickness of eight 1-inch pine boards that the bullet penetrates is

8 x %in. =6in. = 152 cm.

Solution
Applying the work-energy theorem, we get

Wiet = —Faye As stop = —Kinitials

$0
Fave = Lmy? - (2.6 x 107 kg)(335 m/s)” = 960N
ave Asstop 0.152m |

Significance

We could have used Newton’s second law and kinematics in this example, but the work-energy theorem also
supplies an answer to less simple situations. The penetration of a bullet, fired vertically upward into a block
of wood, is discussed in one section of Asif Shakur’s recent article [“Bullet-Block Science Video Puzzle.” The
Physics Teacher (January 2015) 53(1): 15-16]. If the bullet is fired dead center into the block, it loses all its kinetic
energy and penetrates slightly farther than if fired off-center. The reason is that if the bullet hits off-center, it has
a little kinetic energy after it stops penetrating, because the block rotates. The work-energy theorem implies that a
smaller change in kinetic energy results in a smaller penetration. You will understand more of the physics in this
interesting article after you finish reading Angular Momentum.

Learn more about work and energy in this PhET simulation (https:/lopenstaxcollege.orgl/l/
21PhETSimRamp) called “the ramp.” Try changing the force pushing the box and the frictional force along the
incline. The work and energy plots can be examined to note the total work done and change in kinetic energy of
the box.

7.4 | Power

Learning Objectives

By the end of this section, you will be able to:

* Relate the work done during a time interval to the power delivered
* Find the power expended by a force acting on a moving body



https://openstaxcollege.org/l/21PhETSimRamp
https://openstaxcollege.org/l/21PhETSimRamp
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The concept of work involves force and displacement; the work-energy theorem relates the net work done on a body to the
difference in its kinetic energy, calculated between two points on its trajectory. None of these quantities or relations involves
time explicitly, yet we know that the time available to accomplish a particular amount of work is frequently just as important
to us as the amount itself. In the chapter-opening figure, several sprinters may have achieved the same velocity at the finish,
and therefore did the same amount of work, but the winner of the race did it in the least amount of time.

We express the relation between work done and the time interval involved in doing it, by introducing the concept of power.
Since work can vary as a function of time, we first define average power as the work done during a time interval, divided
by the interval,

Pue =AW, (7.10)

Then, we can define the instantaneous power (frequently referred to as just plain power).

Power

Power is defined as the rate of doing work, or the limit of the average power for time intervals approaching zero,

p=dW, (7.11)
dt

If the power is constant over a time interval, the average power for that interval equals the instantaneous power, and the
work done by the agent supplying the power is W = PA¢. If the power during an interval varies with time, then the work

done is the time integral of the power,

w= [P
The work-energy theorem relates how work can be transformed into kinetic energy. Since there are other forms of energy
as well, as we discuss in the next chapter, we can also define power as the rate of transfer of energy. Work and energy

are measured in units of joules, so power is measured in units of joules per second, which has been given the SI name
watts, abbreviation W: 1J/s =1 W . Another common unit for expressing the power capability of everyday devices is

horsepower: 1 hp =746 W .

Example 7.11

Pull-Up Power

An 80-kg army trainee does 10 pull-ups in 10 s (Figure 7.14). How much average power do the trainee’s muscles
supply moving his body? (Hint: Make reasonable estimates for any quantities needed.)

Figure 7.14 What is the power expended in doing ten pull-ups
in ten seconds?

This OpenStax book is available for free at http://cnx.org/content/col12031/1.10
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Strategy
The work done against gravity, going up or down a distance Ay, is mgAy. (If you lift and lower yourself at

constant speed, the force you exert cancels gravity over the whole pull-up cycle.) Thus, the work done by the
trainee’s muscles (moving, but not accelerating, his body) for a complete repetition (up and down) is 2mgAy.

Let’s assume that Ay = 2ft & 60 cm. Also, assume that the arms comprise 10% of the body mass and are not

included in the moving mass. With these assumptions, we can calculate the work done for 10 pull-ups and divide
by 10 s to get the average power.

Solution

The result we get, applying our assumptions, is

2
Py = 10 x 2(0.9 x 80 1;5(;))29.8 m/s7)(0.6m) _ 850 W.

Significance

This is typical for power expenditure in strenuous exercise; in everyday units, it’s somewhat more than one
horsepower (1 hp = 746 W).

7.8 Check Your Understanding Estimate the power expended by a weightlifter raising a 150-kg barbell 2 m
in3s.

——
The power involved in moving a body can also be expressed in terms of the forces acting on it. If a force F acts on a

body that is displaced d T inatime dt, the power expended by the force is

= - —
_dw F . dr _ % (dr
P_t dt _F(dt

£}

)_ T (7.12)

where V is the velocity of the body. The fact that the limits implied by the derivatives exist, for the motion of a real body,
justifies the rearrangement of the infinitesimals.

Example 7.12

Automotive Power Driving Uphill

How much power must an automobile engine expend to move a 1200-kg car up a 15% grade at 90 km/h (Figure
7.15)? Assume that 25% of this power is dissipated overcoming air resistance and friction.

v = 90 km/h

/

15% grade

Figure 7.15 We want to calculate the power needed to move a car up a hill at
constant speed.
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Strategy

At constant velocity, there is no change in kinetic energy, so the net work done to move the car is zero. Therefore
the power supplied by the engine to move the car equals the power expended against gravity and air resistance.

By assumption, 75% of the power is supplied against gravity, which equals m E -V = mgvsin 6, where 6
is the angle of the incline. A 15% grade means tan# = 0.15. This reasoning allows us to solve for the power
required.

Solution

Carrying out the suggested steps, we find
0.75 P = mgvsin(tan~! 0.15),

or

p= (1200 x 9.8 N)(90 m/3.6 s)sin(8.53°) _

0.75 S8EW,

or about 78 hp. (You should supply the steps used to convert units.)
Significance
This is a reasonable amount of power for the engine of a small to mid-size car to supply (1 hp = 0.746 kW).

Note that this is only the power expended to move the car. Much of the engine’s power goes elsewhere, for
example, into waste heat. That’s why cars need radiators. Any remaining power could be used for acceleration, or
to operate the car’s accessories.

This OpenStax book is available for free at http://cnx.org/content/col12031/1.10





